## Community Structure II Ch. 22

III. Processes affecting diversity – large scale
C. Equilibrium model of island biogeography
1. Effects of island size and distance
2. The balance between immigration and extinction

## D. The latitudinal species gradient

- 1. The patterns
- 2. The hypotheses

## C. Island biogeography

Patterns of species richness depend on Island size Island isolation



































	Original <sup>®</sup>			Current		
	z value	A <sup>z</sup>	с	lowa A <sup>z</sup>	8 for all of lowa	8 for sampled remnants or
Green (1907)	0.15	5.81	138.73	2.06	285.8	186.2
	0.20	10.44	77.20	2.62	202.3	114.3
	0.25	18.76	42.96	3.34	143.5	70.0
	0.30	33.72	23.90	4.25	101.6	43.1
	0.35	60.61	13.30	5.40	71.8	26.5
Cratty (1933)	0.15	5.81	154.40	2.06	318.1	207.3
	0.20	10.44	85.92	2.62	225.1	127.2
	0.25	18.76	47.81	3.34	159.7	78.1
	0.30	33.72	26.60	4.25	113.1	47.9
	0.35	60.61	14.80	5.40	79.9	29.4

D. Latitudinal gradient in species richness

pp. 517-520 (check page numbers)

- 1. What is the latitudinal species richness gradient?
- 2. Does it hold for all species?
- 3. What are the hypotheses about why this gradient exists?
- 4. Have any of them been proven to be the sole factor responsible for the observed patterns?

















